Division par 0,1 (G)

Trouvez chaque quotient.

7+0,1= 96 - 0,1 =
9+01= 6+01=
80-+0,1= 76 - 0,1 =
15+0,1= 25+0,1=
25+0,1= 41 +0,1 =
70 - 0,1 = 10+0,1=
41+0,1= 61+0,1=
60-+0,1= 27 +0,1=
76 - 0,1 = 98 - 0,1 =
70+ 0,1 = 96 - 0,1 =
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Division par 0,1 (G) Solutions

9+0,1=90

80+ 0,1 =800

15+0,1=150

25-+0,1=250

70 +0,1=700

41+ 0,1 =410

60 = 0,1 =600

76 - 0,1 =760

70+ 0,1 =700

Trouvez chaque quotient.

96 =~ 0,1 =960

6+ 0,1=60

76 +- 0,1 =760

25+0,1=250

41+ 0,1 =410

10+0,1=100

61+ 0,1=610

27 +0,1=270

98 = 0,1 =980

96 =~ 0,1 =960
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